Puc. 1: Draft: call

Cisco 1 ‘ ’ Cisco 2 ‘
SIP/SDP@ Request: INVITE sip:4997450632@10.155.0.206:5060 @
@ Status: 100 Trying @SIP
@ Status: 183 Session Progress @SIP/SDP
@ PT=ITU-T G.729 @RTP
®<—EEIMZZ&M&1L%®RTP
SIP@ Request: PRACK sip:4997450632@10.155.0.206:5060 @
RTP()————— PT=ITUT G729 Mark ()
RTP(8) PT=ITU-T G.729
@ Status: 200 OK @SIP
RTCP(10 Receiver Report Source description
@ Receiver Report Source description D)RTCP
SIp(2 Request: ACK sip:4997450632@10.155.0.206:5060 @
@ Request: BYE sip:4997450631@10.155.0.205:5060 13)SIP
SIP(14 Status: 200 OK
RTCPGA Receiver Report Source description Goodbye @

@ Receiver Report Source description Goodbye TORTCP



